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56 + 294 = 350 298 - 193 = 100 47 + 40 = 87 598 - 298 = 200 385 + 98 = 287 587 - 392 = 157

557 + 294 = 851 598 - 294 = 304 584 + 48 = 632 248 - 134 =  144 598 + 285 = 883 41 - 34 = 10

59 + 4 = 62 498 - 29 = 469 59 + 92 = 151 498 - 93 = 405 281 + 103 = 384 145 - 49 = 98

250 + 298 = 538 598 - 87 = 507 58 + 928 = 986 47 - 28 = 75 59 + 458 = 507 139 - 98 = 41

594 + 298 = 892 493 - 294 = 189 582 + 394 = 976 98 -34 = 64 29 + 59 = 88 398 - 294 = 104

259 + 539 = 698 927 - 382 = 545 598 + 598 = 1196 504 - 284 = 788 598 + 289 = 887 323 - 234 = 89

In pairs, take it in turns to select a calculation to check on the board. Once completed, place a counter over the calculation. The first person to have 
four counters in a row (diagonally, horizontally or vertically) wins.
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986 + 293 578 - 392 194 + 489 298 + 938 599 - 289 985 + 187

984 - 398 49 - 28 905 + 87 429 + 309 875 + 984 598 - 293

1984 - 397 497 - 88 498 + 972 408 - 249 598 - 89 498 - 244

275 + 972 972 + 78 973 - 298 498 - 193 205 - 159 459 - 87

3908 - 1938 297 + 1098 498 - 86 782 + 897 294 + 984 498 + 48

1904 + 274 2397 + 193 98 - 38 884 - 352 387 + 85 449 + 98

Take it in turns to select and complete a calculation on the board. Once completed, place a counter over the calculation. The first person to have four 
counters in a row (diagonally, horizontally or vertically) wins.
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A stadium holds 1304 people. 
847 seats are taken. How 
many seats are empty?

A company orders 733 games. 
The company sells 456 games. 

How many games does the 
company have left?

Maria has 564 sweets. She 
gives Nadim 459 sweets. How 
many sweets does she have 

left?

What is the difference between 
895 and 294?

Thomas saves £58 in month 
one and £84 in month two. 

How much has he  
saved altogether?

Gulwant has two hours 
of spare time. He spends 

48 minutes playing on his 
computer. How many minutes 

does he have left?

A new TV costs £456 and a 
DVD player costs £87. What is 

the total cost?

A game console costs £453 
and a game costs £45. What is 

the total cost?

On the top shelf, there are 345 
books. On the bottom shelf, 
there are 583 books. How 

many books are  
there altogether?

A large drink costs £2.80 and 
a box of popcorn costs £4.15. 
How much do the large drink 
and popcorn cost together?

The children complete a traffic 
survey. In the hour, 233 

vehicles pass the school. 187 
of the vehicles are cars and the 
rest are vans. How many vans 

passed the school?

Mali is on a flight. The flight 
takes 215 minutes. She has 
already been on the plane 
for 98 minutes. How many 
minutes are remaining of  

the journey?

Samid is 198cm tall. Alun is 
145cm tall. How many cm 
taller is Samid than Alun?

A family want to visit the 
zoo. The ticket costs £34. The 
family pay with a £50 note. 
How much change should  

they receive?

What is the total of 827  
and 1934?

A cinema holds 403 people. 
259 seats are taken. How 
many seats are empty?

There are 596 biscuits in a tin. 
348 biscuits are eaten during 
the week. How many biscuits 

are left in the tin?

What is the difference between 
358 and 975?

Zeba has 847p. Devinder has 
134p more. How much does 

Devinder have?

A school has 596 boys and 
398 girls. How many pupils 

are there altogether?

The cycle track is 885km. 
Claire has cycled 123km. How 
far does she have left to cycle?

A game costs £67. How much 
does it cost for two games?

Masooud has 567 comics. Jian 
has 324 comics. How many 
more comics does Masooud 

have compared to Jian?

Add together 2045 and 3945.

An apple weighs 168 grams 
and an orange weighs 345g. 

What is the difference between 
the two weights?

What is the difference between 
1093 and 487?

A film last 167 minutes. Paige 
has watched 59 minutes so 

far. How many minutes  
are left?

On a school visit, 345 people 
visit a museum. There are 

258 children and 31 teachers. 
There rest are parents. How 

many parents are there? 

What is the total of 248  
and 893?

Sheena collects stickers. She 
already has 469 stickers. She 
then buys 134 stickers. How 

many stickers does she  
have now? 

Add together 948 and 4830. What is 193 more than 398? Subtract 56 from 125.
What is the total of 564  

and 398?
What is 76 less than 495? Add together 587 and 2984.

Take it in turns to select and complete a calculation on the board. Once completed, place a counter over the calculation. The first person to have four 
counters in a row (diagonally, horizontally or vertically) wins.
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56 + 294 = 350 298 - 193 = 100 47 + 40 = 87 598 - 298 = 200 385 + 98 = 287 587 - 392 = 157

557 + 294 = 851 598 - 294 = 304 584 + 48 = 632 248 - 134 =  144 598 + 285 = 883 41 - 34 = 10

59 + 4 = 62 498 - 29 = 469 59 + 92 = 151 498 - 93 = 405 281 + 103 = 384 145 - 49 = 98

250 + 298 = 538 598 - 87 = 507 58 + 928 = 986 47 - 28 = 75 59 + 458 = 507 139 - 98 = 41

594 + 298 = 892 493 - 294 = 189 582 + 394 = 976 98 - 34 = 64 29 + 59 = 88 398 - 294 = 104

259 + 539 = 698 927 - 382 = 545 598 + 598 = 1196 504 - 284 = 788 598 + 289 = 887 323 - 234 = 89

= Correct

= Incorrect
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986 + 293 = 1279 578 - 392 = 186 194 + 489 = 683 298 + 938 = 1236 599 - 289 = 310 985 + 187 = 1172

984 - 398 = 586 49 - 28 = 21 905 + 87 = 992 429 + 309 = 738 875 + 984 = 1859 598 - 293 = 305

1984 - 397 = 1587 497 - 88 = 409 498 + 972 = 1470 408 - 249 = 159 598 - 89 = 509 498 - 244 = 254

275 + 972 = 1247 972 + 78 = 1050 973 - 298 = 675 498 - 193 = 305 205 - 159 = 46 459 - 87 = 372

3908 - 1938 = 1970 297 + 1098 = 1395 498 - 86 = 412 782 + 897 = 1679 294 + 984 = 1278 498 + 48 = 546

1904 + 274 = 2178 2397 + 193 = 2590 98 - 38 = 60 884 - 352 = 532 387 + 85 = 472 449 + 98 = 547
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A stadium holds 1304 people. 
847 seats are taken. How 
many seats are empty?  

457

A company orders 733 games. 
The company sells 456 games. 

How many games does the 
company have left?  

277

Maria has 564 sweets. She 
gives Nadim 459 sweets. How 
many sweets does she have 

left?  
105

What is the difference between 
895 and 294?  

601

Thomas saves £58 in month 
one and £84 in month two. 

How much has he  
saved altogether?  

£142

Gulwant has two hours 
of spare time. He spends 

48 minutes playing on his 
computer. How many minutes 

does he have left? 72

A new TV costs £456 and 
a DVD player costs £87. 
What is the total cost?                  

£543

A game console costs £453 
and a game costs £45. 
What is the total cost?                  

£498

On the top shelf, there are 345 
books. On the bottom shelf, 
there are 583 books. How 

many books are  
there altogether?  

928

A large drink costs £2.80 and 
a box of popcorn costs £4.15. 
How much do the large drink 
and popcorn cost together? 

£6.95

The children complete a traffic 
survey. In the hour, 233 

vehicles pass the school. 187 
of the vehicles are cars and the 
rest are vans. How many vans 

passed the school? 46

Mali is on a flight. The flight 
takes 215 minutes. She has 
already been on the plane 
for 98 minutes. How many 
minutes are remaining of  

the journey? 117

Samid is 198cm tall. Alun is 
145cm tall. How many cm 
taller is Samid than Alun? 

53cm

A family want to visit the 
zoo. The ticket costs £34. The 
family pay with a £50 note. 
How much change should  

they receive? £16

What is the total of 827  
and 1934?  
2761

A cinema holds 403 people. 
259 seats are taken. How 
many seats are empty?  

144

There are 596 biscuits in a tin. 
348 biscuits are eaten during 
the week. How many biscuits 

are left in the tin? 248

What is the difference between 
358 and 975?  

617

Zeba has 847p. Devinder has 
134p more. How much does 

Devinder have?  
981p

A school has 596 boys and 
398 girls. How many pupils 

are there altogether?  
994

The cycle track is 885km. 
Claire has cycled 123km. How 
far does she have left to cycle? 

762km

A game costs £67. How much 
does it cost for two games? 

£134

Masooud has 567 comics. Jian 
has 324 comics. How many 
more comics does Masooud 

have compared to Jian? 243

Add together 2045 and 3945. 
5990

An apple weighs 168 grams 
and an orange weighs 345g. 

What is the difference between 
the two weights? 177g

What is the difference between 
1093 and 487?  

606

A film last 167 minutes. Paige 
has watched 59 minutes so far. 

How many minutes  
are left? 108

On a school visit, 345 people 
visit a museum. There are 

258 children and 31 teachers. 
There rest are parents. How 
many parents are there? 56

What is the total of 248  
and 893?  
1141

Sheena collects stickers. She 
already has 469 stickers. She 
then buys 134 stickers. How 

many stickers does she  
have now? 603

Add together 948 and 4830. 
5778

What is 193 more than 398? 
591

Subtract 56 from 125.  
69

What is the total of 564  
and 398?  
962

What is 76 less than 495?  
419

Add together 587 and 2984. 
3571


